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INSTRUCTIONS

All questions are of objective type having four answer options for each.

Category-1: Carries 1 mark each and only one option is correct. In case of incorrect answer or any
combination of more than one answer, % mark will be deducted.

Category-2: Carries 2 marks each and only one option is correct. In case of incorrect answer or any
combination of more than one answer, %2 mark will be deducted.

Category-3: (a) One or more option(s) is/are correct; (b) Marking all correct option(s) 0‘?1}’ will }'if:]'d
2 (two) marks; (c) For any combination of answers containing one or more incorrect optlons._ the Sa}d
answer will be treated as wrong, yielding a zero mark even if one or more of the chosen option(s) is/
are correct; (d) For partially correct answers, i.e., when all right options are not marked and also no
incorrect options are marked, marks awarded =2 x (no of correct options marked) + total no of the correct
option(s); (e) Not attempting the question will fetch zero mark.

Questions must be answered on OMR sheet by darkening the appropriate bubble marked A, B,CorD.
Usc only Black/Blue ink ball point pen to mark the answer by filling up of the respective bubbles
completely.

Do not put any mark other than where required in specified places on the OMR Sheet.

Write question booklet number and your Roll Number carefully in the specified locations of the
OMR Sheet. Also fill appropriate bubbles.

Write your name (in block letter), name of the examination center and put your signature
(as it appeared in the Admit Card) in appropriate boxes in the OMR Sheet.

The OMR Sheet is liable to become invalid if there is any mistake in filling the correct bubbles for
Question Booklet number/Roll Number or if there is any discrepancy in the name /signature of the
candidate, name of the examination center. The OMR Sheet may also become invalid due to folding
or putting stray marks on it or any damage made to it. The consequence of such invalidation due to
incorrect marking or careless handling by the candidate will be the sole responsibility of the candidate.
Candidates are not allowed to carry any written or printed material, calculator, slide rule, pen, log-table,
wristwatch, graph, any communication device like mobile phones, bluetooth device etc. inside the
examination hall. Any candidate found with such prohibited items will be reported against and his/
her candidature will be summarily cancelled.

Rough work must be done in the Question Booklet itself. Additional blank pages are given in the Question
Booklet for rough work.

Hand over the OMR Sheet to the invigilator before leaving the Examination Hall.

This Booklet contains questions in both English and Bengali. Necessary care and precaution were taken
while framing the Bengali version. However, if any discrepancy(ies) is/are found between the two
versions, the information provided in the English version will stand and will be treated as final.

Candidates are allowed to take the Question Booklet after examination is over. ]

M,

Signature of the Candidate : _ ...
(as in Admit Card)

Signature of the Invigilator : -
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MATHEMATICS
Category -1 (Q. 1 to 50)
(Carry 1 mark each. Only one option is correct. Negative mark: -%4)

2
+3x+a, x<1 . .
1. If f(x)= 2 et s , xR, is everywhere differentiable, then
bx+2, x>1

2 <
o f(x)={x t3xta, *<1 L CR ool s SRR T, O
bx+2, x>1

@a:S,b:S B) a
©) a=0,b=3 D) a

2. Let p(x) be a real polynomial of least degree which has a local maximum at x = 1 and a local
minimum at x = 3. If p(1) = 6 and p(3) = 2, then p'(0) is equal to

T TR p(x) G I @ g R ARTHRRIe 79 G ZIT 53 W x = 1S SR G
S W x = 3-8 Wi 1 A p(1) = 6 9% p(3) = 2 R, O p'(0)-4F T &

A) 8 ®) 9

© 3 @) 6

3. The function f(x)=2x>-3x? -12x+4, xeR has

(A) two points of local maximum. (B) two points of local minimum.
@ one local maximum and one local minimum. (D) neither maximum nor minimum.

f(x)=2x° -3x* —12x + 4, xR, TR

(A) 7t Reqre Zaa b T S|

(B) 7 Reqre A o< Wi e
(€) <3 Rre ZINT 52 i @ b ReAre g S T+ =
(D) (I 559 I S A R |

4. Let ¢(x)= f(x)+ f(2a-x),x€[0,2a] and f'(x)>0 forall x<[0,a]. Then ¢(x)is

(A) increasing on [0, a]. decreasing on [0, a].

(C) increasing on [0, 2a]. (D) decreasing on [0, 2a].

Qe ¢(x)=f(x)+f(2a—-x),xe[0,2a] GR f'(x)>0 @IW x€[0,a] | ST o(x) T
(A) FREA [0, a] | (B) TwgPi [0, ]|

(C) TR [0, 24] | ' (D) TP [0, 2a] |
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5. 1f (7 (x)=kinaf and /(g(x)) =(3iﬂ\/;)2, then

M g(/(x)=kind @ f (g(x))=(sin\/;)2 R, O[

(&) () =sin’x, g(x)=x

(B) f(x)=sinx, g(x)=
© f(x)=x?, g(x)=sinVx .

(D) f(x)'—'bdrg(x)=8inx
[
Ll

6. i
The expression 24" — 15p, — 1, where neN (the set of natural numbers) is divisible by

24"-15n-mﬁ1%ﬁwm(neu,wrﬁasmwm%)—

(A) 125
©) 325 ®) 25

- 2z
7. Ifz;,z,are complex numbers such that -3—1 is a purely imaginary number, then the value of e
. 29 ’

is Htz

3% 24, 2, 4 Wit ket ot = @ 2L e 5,2

3, FeI T T =, o s ~F TR
1 @®) 2
© 3 (D) 4

Jx

6
8. The value of the integral I — X i
3

Vo—x+x
6
I
!—mdx ARG T 2T

1 3
& 3 ®;
©) 2 D) 1
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9. The line y- J3x+3=0 cuts the parabola y = x + 2 at the points P and Q. If the co-ordinates of
the point X are (\E. 0) , then the value of XP-XQ is

y=3x+3 =0 AR y2 = x + 2 W@ P'6 QR @ 33 | 3 X Rz grrsafer (‘/5’0)
2, SR XP- X047 WiW (I

pas =

3 ® 04700
© s+ 5(2-4) %ﬁ

3 (D) 3

10. Let f(x)=[1-24, then
1
f@) s continuous but not differentiable at x=-
1
(B) f(x) is differentiable but not continuous at x=

n |

(C) f(x) is both continuous and differentiable at x =5 .
(D) f(x) is neither differentiable nor continuous at x =% .
W f(x)=1-24 T, R

(A) f(x)mf%@mﬁmmm x=% e

(B) f(x) SRFAEAIY 7 TPTee x=% B
1
(C) f(x) TS 8 HLFACII5Y x=5ﬁ'{t€
1
(D) f(x) TPTFC G TP TR x=5ﬁ={c@

11. If 4f’ is the inverse function of ‘g’ and g'(¥)=——, then the value of f '(x) is

1+x

it ‘g’ SRR (oS SAFS o W AR g’(x)=1:x,, =, o f(x) 97 TR
1+{f () ®) 1-{f()"
© {+G)}" ® )
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0 a a
12. If the matrix ( 26 b -bJ is orthogonal, then the values of a, b, ¢ are

(& —C c
0 a a
W [26 b b | 90 T VHH H, O a, b, 93 WA I
c —C c
1 1 1 S0
=t— b= e \ =4___ = i _ 1 1=
(A) a :I:J_,b iJ_,c + > a=% 2,b * 6’6—17_37 G
1 1 1 1 1 1
(C a"__,b=—_, =—— =—’b= T o
2 6 ¢ 3 (D) @ 3 J6 ¢ 3
5 5a « _
13. Let A=|0 o« 5a|.If |4 =25, then of equals to
0 0 5
5 50 o _
TAIE 4=0 o So| ¥ [4] =25 W, O@ o) TR
0 0 5
A) 5 ®) 1
1
— 5
OF )
(] £ ]
_ (ute
14. A function f:R—R, satisfies f(x;y]=f(x)+f§y)+f(0) forall x,yeR. o
If the function ‘f’ is differentiable at x = 0, then fis
(A) linear (B) quadratic
cubic (D) biquadratic
f:R>R WW,Mf[x;yJ=f(x)+fgy)+f(0), %,y R 13 4 Sl 2 =0
e SrgaEwELT 2, ©iReE f 71
(A) =T B) e
©= (D) fa-fewre

b R L N A T T ¥ wraraaeeararenng Y Sl
1}
00 |
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15. Let fbe a function which is differentiable for all real x. If f(2) =~4 and f"(x)> 6 for allx € [2, 4],

then

12 T, x93 TS I NI G £ TAF0 SHGIFAqNy | T £(2) = -4 4R [2, 4] TGP
X3 G NI &V f'(x) > 6 2, O

(A) f(4) <8 B) f4)=>12

©) fa=8 D) f4) <12

(=] 22 =]
oE

16. If E and F are two independent events with P(E) = 0-3 and P(EUF) =05, then P(E/F) - P(F/E)

equals
Tt E 4% F % 98 961 0 @A P(E) = 03 ¢k P(EUF) =05, 9% P(E/F) - P(F/EY 94
LICEG|
2 3
(A) 7 (B) 35

» .
@:;E ®) 7

17. The set of points of discontinuity of the function fx)=x—-[x], xeRis

fo)=x-[x], xR S SeS el G 2 [=] 2% =]
@ﬁ%

) R
(A) Q
© N @ “<

18. For what value of ‘a’, the sum of the squares of the roots of the equation ¥ —(a-2)x—a+1=0

will have the least value?
23 @ NwE &, x° —(a-2)x—a+1=0 Feaa Aeefr i TR wEw 212
B) 0

A) 2
© 3 @)1

KOO ONXPOOGREDEORDEDRRBEEEREROIVNIRIAND IO R R
itz
L fw A
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13y [+

19. [ T o+

dx is equal to

L .3
Ea.hat dx 43 S ==
Y3+ 2 +1
(A) log 2 (B)210g>2
C l10 2 41og 2
20. If @, b, ¢ are non-coplanar vectors and A is a real number then the vectors O
@+2b +3¢, \b +4¢ and (21, —1)¢ are non-coplanar for
(A) no value of A. (B) all except one value of A.
@ all except two values of A. (D) all values of A.
M @, b, ¢ Torflb SPmoaE (939 T G A G IV A, ©IA d+25 +37, Mb+47 ame
2r-1)¢ wPmedn 2w
(A) A3 RIS S w73 | B) G TE© A~ %1 AT & |
(C) %6 TOr® A= 31 W & | (D) A-R 1 M & |

: 2
21. Let @(#1) be acubic root of unity. Then the minimum value of the set { ‘a +bw+ cm2| sa,b,c are
distinct non-zero integers} equals
2
A AF (1) T T | Ot { |+ b+ co?| ;a,b,c TGS 4Pt} -3 TR Wb
E

(A) 15 @) 5 Of0!
@3 (D) 4 &

15
22. [[x*]dx is equal to
0

—

5

[ dx-aa v =

0

(A) 2 802
© 2442 D) 2

o @ *
¥AXCOBoxNKQOLOBBRENORRCRRRGGEGEAGOORORRODINY
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23. If the sum of ‘n’ terms of an A.P. is 3n? + 5n and its mth term is 164, then the value of m is

n’ AT AWM @NFA 3n2 + 5n 938 O m-9 #6164 T, OF m~43 i+

T G0 FNET A9ifeq ¢
TH
(A) 26 27
(C) 28 D) 29
» 12
1 d°y
24, Ifx=j dt and —;-=ay, then a is equal to
oV1+9¢2 dx
. 1 .a'zy
'ﬂﬁ‘x:j —dt ea‘azx-z-=ay€ﬂ,Wa—aq2mﬂﬁﬁT
oN1+9¢
(A) 3 ®) 6
9 D)1

25. If °B; +5-°P, = '°P,, then the value of ‘7’ is
Tt OB +5-°P, = "B =W, OR ‘r'~47 W T

A) 4 (B) 8
©> ®) 7
= » - =2 a (2 7\2
26. If ‘O’ isthe angle between two vectors @ and b suchthat |@|=7, ’b|=1andlaxb| =k —( b) i
then the values of k and 0 are
s " l= =2 _ 12 (2.7}
off S (o3 @ G b 9% WIS (1 0 W 4N ja|=7, || =1, [axB| =k ~(a5) =, o=
PAK: SUERICEIS] ) |
—] =45° (B) k=7,9=60 st
B @k=7and9isarbitrary

(C) k=49,0=90°

| n
i i here 0< o, p<—-. Then
27. Consider three points P(cosa,sin B), O(sin a, cos B) and R (0, 0), where 0<a., B .
(B) Q lies on the line segment PR.

i i RO.
(A) P lies on the line segment ERT————s
(C) R lies on the line segment PQ. @ , O, .
@ 0<a, B< 7 | SIRCT

471 T foa R =& P(cosa,sin B), O(sin a, cos B) @R R (0, 0),

(A) PWRQW@HW@UI B) 0 R PR RICIR Toid S |

© Rﬁﬂ;ﬁpgmwmm@w (D) P, O, R Rrpaf sl
***%%&%&#*0@@@'li@&l&l@itlﬁﬁ@@%l%&&&&ﬁ**@@%*i
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g0, 1and-1as its elements. The number of such Matriceg which
c

28. Ann x nmatrix i formed usin
are skew symmetric is
0, 1 @R —1 RN TR T GF 7 x n MG 0o F1 1 | et el M- ey oy

@ "2 ®) (n-17?
©) on(n-1)12 3n(n—1)/2
Orn
29. Suppose o, B, are the roots of the equation x* + gx + r =0 (with r # 0) and a
o B vy
they are in A.P. Then the rank of the matrix | By o [is
Y o B
(0 ) B ¥
IIF a,B,y, 5 +gx+r=0 (A r#0) FNFACR A GRGNAPATHROA|B ¢ ¢
IGE-a3 T4 2= Y a B
@) 3 .
© 0 D) 1

30. Let f,(x)= tan%(l +secx)(1+sec2x) .. (1 + sch"x) , then

W £ (x)= ta'n%(l +secx)(1+sec2x).... (1 +sec2” x) o, O

T

W % E)=1 &) ﬁ(iEJ:] oran
is

© f %)ﬂ fz[ﬁ)ﬂ 0Ol

a

5.
31. The value of the expression ¥Cy+)° 52:cy s

j=l
5 .
¢, +Y. I cy affmas = g
j=1
) 3¢, B Mg,
©) *c, o) ‘¢,

¥XXCOGHXVO DOV VVVVVCRGRBBODDDDVROV RO IRNT

PR LA
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32, If adjB=4|A=|g|=1, then agj(0"'5P)-
¥t adj B=4,[P=|g|=1 =0, ot agj(@'BP!) 7@
(A) PQ (B) QAP
@PAQ (D) P40

EI% [x]
=]

33, Letd 5 and & be vectors of equal magnitude such that the angle between & and b is @, b and
gispand fand @
@1 T 4,5 @R & (SFROT TNC GTAR G 8 b
8 E—Hﬂﬁ@@‘fﬂ@ﬁﬁmsa+cosﬁ+msy—ﬁmﬂﬂﬁﬁ
| 1

is . Then the minimum value of cosa + cos P + cosy is
TR T o, 58 &3 NS R P AR

1 —

@ 5 ®) =
3

3 _3
© 3 . 2

EIE O
=

34. Letf(x) beasecond degree polynomial. Iff(1)=f(-1) andp g,rarein AP, then f'(p), f'(@): S (9]

D i (B) in G.P.
i P (D) neither in A.P. or G.P. or HP.
Skl WI:JI’{(xI;ﬁ@?T qroge @l Ittt i | T A1) = f(-1) €k p, g, 7 AP-C® Qq, IR
'), f'(@, [ ()

(B) G.P.(® WIz|
Lo O L o

'Y E X2
PEREREHDRTREVDB VTN
X¥XkXDOOXXKROGORRVOERGRET
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35. The line parallel to the x-axis passing through the intersection of the lines ax + 2by + 3p 0
bx — 2ay — 3a = 0 where (a, b) # (0, 0) is ind

(A) above x-axis at a distance % from it. (B) above x-axis at a distance E from it
@ below x-axis at a distance % from it. (D) below x-axis at a distance 2 from it
3 :
(X ARG x-SCHY A FAGHT 4R ax + 2by + 3b = 08 bx —2ay — 32 =0 oFn
ARECIR Yo (AR, TR T (G (a, b) = (0, 0)), B = EED
(=]
) _
(A) x-SC%7 Solrg = 3 3 2
5 (B)xW@’Itﬁ3 G TG |
3
(©) x50 A5 . @ T D) I-W%%WWI

36. A function fis defined by f(x)=2+(x— 1)2" 3 on [0, 2]. Which of the following statements is

incorrect?
(A) fis not derivable in (0, 2). (B) fis continuous in [0, 2].
(©) f(0) =£(2). Rolle’s theorem is applicable on [0, 2].

F(x) =2+ (x—1)*3 Awal [0, 2105 RIS | O FHERS Iegelt 1w @b e e

(A) £, (0, 2)( HqPaT (1% «TH | B) f, [0, 2]-(S TS|
(© f(0)=£(2) (D) T Soi=mf [0, 2] ewrEg|

37. The number of reflexive relations on a set A of n elements is equal to e
n TGS APRYIRES CTO T AFH-GT IRYN =T ﬂ%
@) 2" ®) n’ [=]
© 2 ©) n’-n

38. Let f(x) be continuous on [0, 5] and differentiable in (0, 5). If f(0) = 0 and |7 ()| s% for all xin
(0, 5), then Vx in [0, 5] 1
1A, f(x) SCATID [0, 5] S TS G (0, 5) LT SR | I £(0) =0 4R CIES
(0, 5) SR FHAB x~4F T &, O [0, 5] I HAE 49 G

| 7(x)|s1 ® lf(x)lsé
© f(x)-% ) |7(%)[21

L R S o N P T X LA A Sl
a1l
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o ek 21_ ® 5
tm([ - ]xsznzz an([ . ) equals

39, Iim

x—0

im tan([—‘n:z:lxz) —x2 tan([—nZ:I)

x—=0 sinz x

ORY tan 10-10

(C) tan9-9 D) 1 —
EI%

40. If cos o+ cos ™ B+cos 'y =3n, then a(B-+7)+B(y+)+y(a+P) is equal to

43 W T

gt cos ou+cos  B+cos”y=3n T, O a(B+7)+B(y+o) +y(o+B) - T

®) 1
(a0 b

@6

| B ich @ B are
41. If &=3?—E,|31=J§ and &-[3=3,ﬂ1¢ntheareaoftheparallclogramforwhwh a and P
adjacent sides is

B a B,oR 16l
s G=37 -k |B|=5 e 6:B=3 22, I RIS AT & @R B, oW R
®) V14

Eg :g?— ‘[H E% [=]
[=]

42. If x =1 and x = 2 are extreme points off(x): odog|x|+Bx* +x, (x#0), then

(x)= alog|x|+px? + x99 (x.;e 0) SR, 2, O

zﬁx=-1nﬂa‘<x=2,'f 1
- =-—6, =——
(A) a=-—6,[3=51 ®) o=-6p=—7
1
1 D) 0'.=2,]3=-2*

@¢=-2p-

*&*@@@**l@&%ll!&@l@ﬂ&&&I@%@@ﬁ&@&&&G@**@ﬁﬁ?**#
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1 -2 4
43. If for a matrix A, ]A]=6 and adj4=|4 1 1 , then k is equal to
-1 £ 0
1 -2 4
7 AT & [4|=6 @ adjd=|4 1 | T, O k-4 T TJ
-1 £ 0
(A) -1 B) 1

> i @
(=]

4. 1f a, b, c are positive real numbers each distinct from unity, then the value of the determinant
1 log,b log,c
logya 1 log,c| is
log.a log,b 1

1 log,b log,
M a, b, c 170 o0 AT ARG W, ©@ [logya 1 log, ¢ TORRRIG-a7 I 2=
log,.a log,b 1

@) o ®) 1

(C) log,(abc) (D) log,alog,b log,c
45. The straight line i yIZ - z;l is
(A) parallel to the x-axis. (B) parallel t0 the y-axis. .
(C) parallel to the z-axis. @ perpendicular to the z-axis. W #E
x=3_¥=2_ 271 e &
3 1 0
(A) x-SCHS T | (B) y-SC#S Gl |
(C) 753 TN | (D) 7% A &4 |

46. The sum of the first four terms of an arithmetic progression is 56. The sum of the last four terms
is 112. If its first term is 11, then the number of terms is

a3 AN Ao 22w 513 AW @eiEE 56|mmmﬁmmwumﬁmmwﬁ
11 27, O3 FWGF oo A He T

(&) 10 11
©) 12 (D) 13
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/2
47 The value of the integral j 10g[
0

4+3sinx ),
4+ I’:cosx]aﬁE <

n/2 4+ 3sinx

glog(4+3costdx WIo 3 29

® 2 ® >
©0 ®) 2

oo
@@

48, If the sum of the squares of the roots of the equation x* — (2 — 2) x — (a + 1) = 0 is least for an
. appropriate value of the variable parameter , then that value of ‘a’ will be

7 (8 T T T 2 — (@ —2) x— (a+ 1) = 0 FReee Feafm i cioRes FHE 3,

1B

s

1

9, (1 +x-29°=1

(B) 2
@) 0

rax+ax+. .. + ayyx2, then the value of @ + a4+ @+ . - - + @12 18

'ﬂﬁf'(l'l'x"le)&:1+alx+acxz+---+alzx12@=wnq+a4+aﬁ+...+a12-ﬂ_ﬂ"i'l'ﬁ'?}3'ﬁ

(A) 21
©) 32

50. Let 4,5, be unit vectors. Suppose d@b=a

31

(D) 64

- . T
7-2=0 and the angle between b and ¢ 1S T Then

ais ) i
QT 45,7 oD w989 | 3 db=a-Z=0 WK b ¢ & -7 NG I AN =3
O § TR )

(A) bxé (B) f-'Xb-

© b+ il(bxc)

2T T T I eenpenpepr YT 22 5 2 AR KRR R A A

D@D

15 |
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Question with - -
| Answer Key WBJEE 2025 - MATHEMATICS Qﬁ PATHFINDER

Where Aspiration Meets Success
= B
Eﬁ M-2025 (16)

Category -2 (Q. 51 to 65) .
(Carry 2 marks each. Only one option is correct. Negative mark: -¥)

51. The probability that a non-leap year selected at random will have 53 Sundays or 53 Saturdays is
SR T G G T TSI i 391 2011 B e 537 aRam wkal 530 =R 2
CERCIEC G

A OF
SR

0O 1

. 365

52. If IZI’=|ZZ‘=iZ3| =1 and Z +Z,+Z, =0, then the area of the triangle whose vertices are

Z,2,,2,18
T |2,| =[2,] = |25 =1 @R 2, +2, + 23 =0 T TW 2,, Z,, Z, TR Fagaion cFawa g

33 \3
v B =
© 1 D) 2

_ EI% [=]
1 cos6 -1 ,
53. Let f(0)=|-sin®0 1 —cos6) . (=] R

-1 sinB 1
Suppose A and B are respectively maximum and minimum values of f(0). Then (4, B) is equal to

1 cos8 -1
QAT f(0)=|-sin® 1 —cos| GRAE BT IS £(0)-< b3 ¢ ST WA | O (4, B)
-1 sin0 1
=
) 2,1) 2,0)
© (V2.1) o2 %)

¥AKCLGAKDOOGBRVBDODO RO D RR OGO DO DDDRENRRDSORNN
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| Answer Key WBJEE 2025 - MATHEMATICS Qi PATHFINDER

Where Aspiration Meets Success

M-2025 (17,

g4, If f(x)= ;i:; L f(f(f(x))) will be

 1(0)=5=3 BT (1)

s

(A) ¥ (B) 2x
2x~-3 3x-4
© éﬁ 2x-3
2
. - h tands for th, test i HTack
- » f(x)smaX{I+’x,’x [x]},w ere [x] stands for the greatest integer not D

x. Then _[33 f(x) @ has the value

ter thanl
B | AT [x] T x4 TR I8 S R | ot I_Z £(x) dx <z

@ £(x) -maxle i =B
" ®7%

A) 7 (D) 0
©) 1

in A.P. and if the equations (b—c)x2+(c—a)x+(a_b)=g o

are P.

6. If a, b’ ¢

; a)x2+(b+c)x=0 have a common root, then A
e in AP a, ) arcfn P.

BT (D) & b, ¢ arcin GP.

in A.P. o
© mﬂjﬁﬁﬂ?ﬁkﬂﬁﬁ (b—c)¥’ +(6—a)x+(a'-b)=0 ¢ 2(c+a)x?+(b+c)x=0
ﬂﬁ'ﬂ, b,cﬂﬂm

-_Ca |
s s o e S S B) &, ¢ pmes dofero el [EEEE

offere Iz
(A) az,bz,cjﬂ‘”@"‘-: : . (D) & b, ¢ eeire 2ot Il

e

©) 4 a
' ' ircle will
' . meters of a circle of radius R. The circ
57, Letx-y=0andx+y = 1 be two pe;pcndlculardlamc er
pass through the origin if R is equal to - -
g, O Jelb I
Mix-y=04Rx+y= mammzﬁ?ﬂmqﬁﬂ@mﬁmzﬁmwzﬂ
@RI 1
@ 5 =
1 1
OE o) 3
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Question with - -
| Answer Key WBJEE 2025 - MATHEMATICS Eﬁi PATHFINDER

Where Aspiration Meets Success

& & M-2025 (18)
%. o +|x - |, where & B are the roots of the equation x* — 3 +2.=0. Then the nugg,,
~ ::: ;oiits) ml;u, ] at which fis not dlfferennable .
e (D) infinite
© 1 3 + 2 = 0 TR 1B Tt O [0, B

[x a| lx [3‘ iﬂ,mﬂa,ﬂﬁf

W f(x
LIRS c&wﬁ“@@f oy 2 1, O R =

- ®0
i D) TR
O 1

ber of common normals of y* = 4ax and x2 = 4by is equal to

59, The maximum num
1 = Aax 6RR 5 = Ay I T w4 ﬁaam(;)m4

A) 3 D) 6
©5

1_:2+y2 —4x-6y—12=0, x2+y2+6x+18y+26 OW‘HTW‘?WP‘WR*BT!@T
A) 2 5
© 4

61. The number of solutions of sin~! x +sin! (1 e x) =cos~! x 18
sin x +sin~1(1- x)= cos-1 x ~aF TS RO W

oy ®) 1
©> ®) 4

¥
gaxt
KA D D OAKBEOEONBOOVEVERBRACROORODBBBENNT
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Question with - . :
| Answer Key WBJEE 2025 - MATHEMATICS =S PATHFINDER

Where Aspiration Meets Success

of UHVHW = 3, u,v, w € R and f(x) = ux2+ x4y be such

e 5 x,y € R Then f(1) is equal to that £ (x. +3) = f0)+£0) +xy,
" W;w@m: - ;(1;% € R = wsvrsw REH Qi 43) = fy4fty) e,
v x,y e N
5 1
@ 7 ® 3
§ 1 3
© 2 @ 3 or0
. 1 n
denote the term independent of x in the expansion of [”_3_1117(2@} , E%
63. Let &n
. (ﬂn)"-'
o 1B “30p equals
I n . 3n - (an)"!
— [ﬁilﬂz_/l’lJ g7 Rrqfore x A 47| ORE 10 5, p 4 A
al, -
® 1
@ ©) ¢
© ¢

| 5 T then cot(26) has the value
3 - -_— = 3 0(9, ¢< L
64 Ifcos(9+¢)='5' and sin 0 %) 13 4

= —

' 5 T 7, OIZE cot(20)~97 WA I
3 : i = » 0<9$ ¢< L4
i cos(6+¢)=§ R sm(9 ¢) 13 4.

63
16 ®) 16
O o 3
3
05 -
_ £ 3 x3) is 2
s such hat §(3)= () +38(
65, If f(x) and g(x) are (WO polynomials SuC e

divisible by £+ x + 1, then
@ o(x) is divisible by (x-1)

s divisible by (x— 1)
of f(x) and g(x)1s divisible ' ) y
%‘ zgr];eis divisible by (x — 1) but f(x) is not divisible by 6= 1)

. o _1
(D) f(x) is divisible by (x - 1) but g(x) is ot dm.«;xble by (x I)W11 o
1) GRR g(x) 4o oMW, CRITT ¢(x)=f(x3)+xg(x ), 2 +x 41 ey

(A) o(x), (x- 1) 7R RerEg |

(B) flx) G g(x)-47 @R (x — 1) WS erew 7

© g0, (x- 1) w1t Rierey e f(x), (x- 1) w3t Rerey 74|
D) fx), (x- 1) w1t Reres e g(x), (- 1) =il ey

@**‘ﬁ‘@@***
¥hean .. I ‘,“;m&@@a’i‘@'&,.
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Where Aspiration Meets Success

Category -3 (Q. 66 to 75)
(Carry 2 marks each. One or more options are correct. No negative marks.)

66. If the cquation sin®x—(p+2)sin®—(p+3)=0 has a solution, the p must lie in the interval
i sin*x—(p+2) sin?x—(p+3)=0 FRTACH G TN T, S p TP X TG A SN 2

-3, -2 ®) 3.-2

©) (2,3) D) [-5,-31

o0
[=1y ™

67. E0 <a, b <3 and the equation x*+4+3cos(ax+b)=2x has real solutions, then the value of
(a+b) is

T 0< a, b <3 R %+ 4+ 3cos(@x+b)=2x TN AT T AP, O (a+b) A A

(A) % B) g

@ﬂ' (D) 2n

68. Let f(x)=+, x € [-1, 1]. Then which of the following are correct? -
(A) ‘f* has a minimum at x =0. (B) ‘f’hasthemax:mumatx:l.
(C) f’ is continuous on [-1, 1]. (D) ‘f’ is bounded on [-1, 1].

£ T f(x) =22, x € [-1, 1] orege FEfie e @i Rgfouf T
(A) x =0 RS f-47 3 o< T x| x=1ﬁ‘i®f—«ﬂ§5‘ﬂﬂ‘ﬂﬁ‘5{1ﬁl

© 1, 11a f 7w () [-L, 114 f T&! Eg

[=]y*

69. Three numbers are chosen at random without replacement from { 1_, 2, .... 10}. The probability that
. the minimumofthechoscnnumbersis?: or their maximum is 7, 18

R TRt {1, 2, ... 10} (AT 2SI O GTACAONI Rz ew T | e e weE
3 3t SitTd IS 7 28T HEIFH! LI

@ 2 ®

©% ®

8o B|w

ok
***&&&*#l&-@@tll@&&%ﬂ!glﬁ!i%%@%%’@**ﬁ’@@*
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M-2025 (21) %

70. The population p(t) at time f of a certain mouse species follows the differential equation

t
%E—) =0-5p(¢)-450-

If p(0)=850, then the time at which the population becomes zero is

o T (I T8 3 et wiet p(r) FfeiRis wraee TReI® I 567,
%‘—) =05p(t)-450

ot p(0)=850 T, OTF &I 3=t @ ST *) 377 ©f

(A) log? (B) %Iong

() log18 2log18

71, If P is 2 non-singular matrix of order 5x5 and the sum of the elements of each row is 1, then the
' sum of the elements of each row in P is

gt P45 SX5 T MBI (non-singular) T 4 AR AR TAMAREE Eiswe 128, OReE

p-1-o elfeld Ffia SoAmImaf s 7@
® 0 ©F

1 D) 8
© 3

; T .
7, The solution set of the equation (x e(ﬂ, —Z-D tan(manx) = cot(‘ftootx) , 18

tan(frtanx)=cot(ﬂcotx) i (-‘t G(O. -;—)J ARAFADT TG o
) (0) ®) {-}] |

©9 o {3

sinZx | cos? x ,_1\/' .
.1 f(x)=],  sin'Vrdt and 8(x)= [ "cos i, then the value of f(x)+g(x) is

i f(x)=[2" “sintidram g(x)= [, cosVhdt o, O fla) + g2 4F W RS

(8) ® 7

© g (D) sin’c+sinx+x

***a’@@*lvlﬂ'%@&l&@@lﬁ%iﬁﬁGi@&@%@iﬁ‘&&l@**@@@*i*
Mwl 24wl
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100 (x+x3+x5) dx is
-100 (1+x2 + x4 +x6)

74. The value of I

J.mo (x+x3+x5)

-100 (l+x2+x4 +x6) sk

(A) 100 (B) 1000

@o D) 10

75. Letf:[0,1] > R and g : [0, 1] = R be defined as follows:
f(x) =1 if x is rational } and
= 0 if x is irrational
g(x) = 0 if x is rational :| then
= | if x is irrational

5
f+g is continuous at the point x =% but fand g are discontinuous at x =2

3"

(A) fand g are continuous at the point x = =

(C) f(x).g(x)> 0 for some points x € (0, 1).
(D) f+g is not differentiable at the point x = %

QIFSF:[0,1]1 >R, g:[0, 1] > R FsfeResix wwrs ¢
fG) =1, %47 x o
=0.qu‘{ﬁ?} o
g(x) = 0, T4 x R
=1,_Wx‘3|‘1?lﬁ
@) 78 g x=7 Ree Tws| |
(B) f+g SATI0 x=% e Awe 5 f@ g x=%--®w1
(©) f(x).8(x)>0, x € (0, 1)~43 g Rre |
D) f+g Sl x=-i-ﬁmwwmsvwn

Jwen

¥
A DO R AR PO OBV DOV O RO RRRO DO DD RO R ERaRNEETY
Elﬁlil
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